© Copyright : Gatic Pty Ltd - 2019

1 2 3 4 5 6 7 8 9 10 11 12 13 | 14 | 16
NOTE:
8 only of M10x40 Hex head bolts required
for assembly C/W washers and nuts.
- B 72
[I [ | 1 |\ |
__A[|C |IC |IC IIC DI E i N\
8 8 N
— — |
o||f i | oy
[
S A= ]
= /p a N \S wl pr—
H | |
— 0 72 N NS ] O
— ’?&: a R .’@ T ‘L?I) \'B @ N
M [l| ~ 4| 2
w u
=
=
— |
|
842 SECTION B-B
992
GM301C74D
Item Drwg # Rev # Title Material Qty. Mass
No.
1 1722 C 762x457 C/0O Class D Conc Infill Cover | Ductile Iron 500-7 1 50.4 kg
2 4012 B 762mm Under Cut Bar Class D Ductile Iron 500-7 1 11.2 kg
3 4008 B 762mm Draw Cut Bar Class D Ductile Iron 500-7 1 13.5kg
o ’ U @ ” U | 4 4002 C 527 mm RH Side Bar Ductile Iron 500-7 1 7.7 kg
~— A 4 Fo Rd JR—
= 5 4001 C 527 mm LH Side Bar Ductile Iron 500-7 1 7.7 kg
6 -- -- M10 Washer Nylon, general purpose 2 0.0 kg
762 C/O
7 -- -- M10x65 Socket Head Cap Bolt Stainless Steel, 304 2 0.1 kg
SECTION A-A
8 -- -- M10 Washer Stainless Steel, 304 2 0.0 kg
9 2854 C Plastic Plug @26 mm UV Stabilized Nylon 2 0.0 kg
10 1681 A Plastic Keyhole Plug UV Stabilized Nylon 4 0.0 kg
UNLESS OTHERWISE STATED | 1ngaR MACHINING TOLERANCE: NOM = Nominal; O/A = Overall; TYP = Typical; C/O = Clear Opening p— BY DATE |“Chsoicrap | ™ 762x457 C/O CONCRETE INFILL COVER &
% ALL MEASURES IN MILIMETERS. i'x zgig mm AL CAST SURFACES TO BE PAINTED BLAGK @E pesiGNeD: | S.S. | 13-05-2019scae: FRAME ASSEMBLY CLASS D
%) GENERAL CAST TOLERANCES: ' ' FINISH: 2 BRICATED COMPONENTS 0 BE HOT DIP — o | FM._|13.05-20 10—l WTERAL [ s 90.6 kg
[ [ r5-05 2010 |mimia reease | 55| cacrivg reon 3 AIGULAR HACHINING TOLERAICE: CALUMISED 1O RIS, porLiED On AL GATIC PTY LTD | THIRD ANGLE. [0 | P [sos o] o A3 o
© No | DATE DESCRIP‘fION BIY. CKD DRAFT TAPERS: 2° XX £0.1° MACHINED SURFACES. ghl-sors{agggdzré?ed'Fz(x)-Boosxglzs' 5833'&"&’1;@;@%%& PROJECTION [ aeroven:| s.5. |13-05-2019]""" 1 of 1 5653 A
1 2 3 4 5 6 7 8 9 | 10 | 11 | 12 | 13 | 14 | 15 16




